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Banking systems:

1. Closed banking: one informed bank, one uninformed bank
2. Open banking: two ex-ante symmetric banks (same information structure)
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Model

» Borrower needs one unit of funds to invest in a risky projects with payoff

R 6=1
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based on their information
b e [Oﬁu co  j=1,2

-

offer no offer

» If the borrower gets two offers, chooses the lowest

3/11



Model

» Borrower needs one unit of funds to invest in a risky projects with payoff

R 6=1
P:{O 8—go where g=Pr(6=1)

» Two banks compete for the borrower by simultaneously making a TIOLI offer
based on their information

b’EE);ZElU o j=1,2

offer no offer

» If the borrower gets two offers, chooses the lowest

» Bank can also invest in a risk-free asset with return R,
» Short-term creditor supply funds to the banks, who can default

P rollover after observing the bank’s portfolios: require 7, if risk-free and ry, if risky
» cost of loan is [E(6|information) X7,
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Funding costs

» Required return for risk-free portfolio is fixed at 7,
» Return required to rollover debt when portfolio is risky:

» With default premium: 1, = % where & (D) is the expected success probability if
the winning bid is b

» Without default premium (guarantees for creditors): r, = 7.
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Information Structure: Closed vs. Open Banking

» Closed banking:
» Bank 1 has a signal s' = {L,H} about 6 with
Pr(st =H[0 =1)=Pr(s! =L|# =0) =7 > 05
» Bank 2 is uninformed, i.e., s = {L,H} with
Pr(s> = H|6 = 1)=Pr(s*> = L|6 = 0)=0.5

» Open banking

» Both banks are symmetrically informed, i.e.
Pr(s>=H|=1) =Pr (s> =L|#=0) =71 >05

» Assumptions:

> No offer if s = L
» No offer if bank is uninformed and cannot transfer risk to creditors
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Results
Closed Banking

- Bank 1 is a monopolist if H
- Bank 2 never participates
- Funding costs 1, =

Open Banking

Default E
Premia Good loans: 7T
-Bad loans: 1 — 7
- Expected NPV W°¢ > W°
- b =R — borrower welfare= 0
Guaranteed
Returns
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_ |
A= Pr (comp) Pr (W) + Pr (no comp)
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— [Pr (comp) Pr (W) E [6|comp| 4+ Pr (no comp) [E [#|no comp]] r, — Pr (comp) Pr (L) 7,

» Average lending cost
A = E [0]win with b] 7,

» With guaranteed return: lower cost of lending = transfer risk to creditors

» With default premium: cannot transfer risk, back to fixed average lending cost

Ty = L
bTE [6|win with b]
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b) Portfolio choice and Participation

» Expected profits when offering b for bank i

[Pr (comp) Pr (W) E [8]comp] -+ Pr (no comp) E [f|no comp]] b’ + Pr (comp) Pr (L) R,
— [Pr (comp) Pr (W) E [6|comp] + Pr (no comp) EE [8|no comp]] r, — Pr (comp) Pr (L) 7,
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b) Portfolio choice and Participation

» Expected profits when offering b for bank i

[Pr (comp) Pr (W) E [8]comp] -+ Pr (no comp) E [f|no comp]] b’ + Pr (comp) Pr (L) R,
— [Pr (comp) Pr (W) E [6|comp] + Pr (no comp) EE [8|no comp]] r, — Pr (comp) Pr (L) 7,

» In the literature, outside option in normalized to zero, i.e., R, = r, = 0.

» Paper focuses on R € (R—ﬂ”,2Ra) =inefficiency of uninformed lending and no
participation under CB

» Ignoring outside options can have important implications for results on competition
if R, is large relative to R!
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General comment: What does open banking do?
5.1 In the paper: eliminates all informational advantages of the incumbent (same
precision)
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